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Name

Date Class

Additional Practice

oooooooooooooooooooooooooooooooooooooooooooooooo

1. Find each missing value.
a. 13-(8-2)=13-8-[]

« 2-6--1)=12-6-[]

e. What pattern do you see?

Investigation 4

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

Accentuate the Negative

b. 6-(5-3)=-6-5-[]

d 22— (11— —-4)=-22—-—-11—-[]

2. Find the correct result for each of the following.

a. SX7+10+2
2 1 _ 3
C. 35><22 57+ 10

e. 6% (7—(—4+2))

b. 2+4)?%x5-2

d. 6 X (3-5)2+38

f. 9x8+22+-5

3. Find the answers to the following expressions.

a. SxX8+2=+2

G S5X2X-3+-12+6

e. (8—20)+22-5x%x -3

g. 12-8+4-3

4. Find each missing value.
a. 4xX8+4x22=4x[]

¢ 6x[]=-6%x15+—-6X -5

b. 3+ -5xX4-2

d. -4 x 3+ —10) — 3

f. 20 — (60 = (=2 X 30) — 8) x 22

h. #+2%+13

b. —12x43+ -12x -3=-12x[]

d —04x[]=-04xX-07+—-04x%x—-03
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Additional Practice (continued)
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5. Find each missing value.

a

b

L2X(7T+4)=2X-T+2X4=__ +___=___

CAX(-T+4)=_ X-T+_X4=__+__=__
OX(-7T+4)=_X-T+_X4=__+___=__
—IX(-7+4)=_X-T+_X4=__+___=__
“2X(-T+4)=_ X-T+_Xd=__+__=__
What patterns do you see? Explain your thinking.

6. Fill in the missing parts to make the sentences true.
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a

(=2

N

o

following:

a. 3«4+ -7 b. (=5+3)—(-5--13)
c. 10+(-3+5) d. (—12x) + (4x)

e. 22— -4 f. (x) — (4x)

L 8X (6+4)=(8X__)+ (8x4)

LIX X +3)=(TX_)+(__X%X3)

L (FIXS) H (L XT)==9%x(_+7)

(XA +(xXS5)=__X(@4+))

8+ 12x=xX(___+__)

. Use the Distributive Property to write an expression equal to each of the

Investigation 4

Accentuate the Negative
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